x=— A uf], 4x% - 4x + 1 9] ZE2 oot
» E
> Heh: 3

V3+1
2
4x? —4x+ 1= (2x - 1)?
= (VB =3

—2x-1= V3o|BE2




(x=1)(x=2)(x=3)(x—4) + m °] FAAFA 0] HZF St= 5 m
o] 2% Ftolel,

> E:

> EEm=1

B

(x=1D(x-2)(x=3)(x=4)+m
=x-1Dx-4)(x-2)(x-3) +m
= (x> -5x+4)(x>-5x+6)+m
x? -5 =12 gt
(t+4)(t+6)+m
+100+24+m
4+ 10t 4244+ m = (1 + 5)?
24 +m = 5
som=1°|t},




3. a+b=50°]1, ax+ bx—2ay—2by = 20 & W, x2 — 4xy + 4y 9]
= Fshozt,
> &

> HEg: 16

B \

ax + bx — 2ay — 2by = x(a+ b) — 2y(a + b)
=(a+b)(x—2y) =20

5% (x—2y) =20, x—2y=4

X2 —dxy+ 4y = (x-2y)2=42=16




4. -9 4y* 4 6xz - 22 & AFROMSHATY (ay - 3x+2)(y + bx +cz)
7v H ik, oldl, A4 a, b, ¢ ol H5ke] a+ b+ ¢ O] gk& F5HA?

@ 1 @ 2 (@)3 @ -1 © -2

B

-9x% +y? 4+ 6xz — 22

=y% - (9x2 — 6xz + 2%)

=y - (3x-2)°
={y-Bx-2)} {p+Bx-2)}
={y-3x+2)(y+3x—2)
a=1,b=3,c=-1
sLa+b+c=3




99 X 145 + 99 x 55
1992 -1

of g Pofelel.

>
> ®gt:

oH =

1
2

99x 145 +99x 55  99(145 4 55) 1

1992 -1 (199 +1)(199-1) 2




